Questions

Q1. The use of a pesticide may result in an increase in the number of pest organisms that
are resistant to the pesticide.

Use your knowledge of natural selection to explain the increase in the number of
pest organisms that are resistant to the pesticide.
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(Total for question = 5 marks)
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(d) A student suggested that purple flowers are more liely to be visited by bees than
white flowers.

Use your knowledge of natural selection to suggest how this might affect the
number of purple and white flowers in the wild
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Question

Answer Notes Marks
number

1 variation / variety Max 5

2 rare / random;

3 mutation / mutant; allow converse for
non-resistant

4 gene/ allele / DNA/ eq;

5 survive / notkilled / live / eq;

6 reproduce / breed / have ignore pass on

offspring / eq; phenotype /

7 pass on (gene)/ eq; characteristic

8 many generations/ repeated

over time / eq;
Total 5
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